Efficiency vs P,

~02 :
o : : :
O e I roseeeenss e
> F : : :
2 0.16F -+ mwrrrrineeneeeen Preeneened oneeeeee
(< : : :
8] o . . .
S04 i o e
] . H
0.12 PR Beeeeeeennd e
5 S R
0.08F -+ B Beeeeeeeend e
0.06F-#------ireeeeeeeene Feoernnenesd o
0.04f---eevieerieen Feeeeeeeeen e
0.02 -+ -Fggeemeeenens Beoeeeees e
10§

I3 LT S SRR B e

Ratio

0.9508L

107 1 10 prT (Ge\})o3

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

------ AR S S S

s T P I P D B

RS
I i | i
x 1.05 1 b
; e [§!
il i
0.95 . :
=3 -2 1 2 3

Efficiency vs ¢

o 0.1
Y :
Z0.09F
Q :
20.08¢
&) .
£0.07E
o :
0.06f -
0.05F
0.04F
0.03E
0.02F
0.01E




	Contents
	Page 1


